BETOILEERRVESEM—% _ (R7.6.30IR7E)
w& X [ TEE %5 , {E%\:Fﬁmﬁz RS T ETS TES Ficgirii
B | 8 |iExer [Ssas |0sac | 2w | MO BEE S e | EER BT ma | sou | Bga | 32 | 3ac | s | 3aS | 3aS | BT e | 88 | 32 | K60 | 200 e | o [EsE
BE | MR | Ty | Foey | g | PR ﬁ(;ﬁg Foev | HRE “9_“ tji;i it | N | KB | Tats | Taty | sk | Tt | Fats | sk | va— | sk [Ty | $EE | & | e | TR AT
a— | B— B— a— | B— B— | B— B— H—
FILI7HE 11729) 130 460 500 324 280 576] 216 4100/ 192 360 250 760 500 3081
2 | & Yk 1870 300 1000 270 300
B | = BRI/ & 3888 432 324 324 540/ 396 324 288 216 1044
o | g |23vh— 1000 200 200 300 300
E X3 1200] 300 120 240 420 120
HIN( I\ )L T—R 3240| 1280 300 240 180 220 120 360 300 240
REK YUV 90813 1992 701| 300/ 684| 312| 360 240] 276/ 240/ 240/ 180| 600| 1320] 360| 480] 960| 1560 3480 2040 672| 312| 384| 648| 2472
SRS )L (200ml) X 240 240
BR—ILRYK a 1278 1023 3 11 10 10 1 20 71 21 20 11 10 35 7 10 5 10
BR—IL/IS—T433> = 287 56 3 11 10 2 20 79 11 20 11 10 35 7 1 10 1
N—T4>3> () = 25 13 12
BHETMH) iR 719 16 547 1 155
BHETUNER) i 35 3 4 26 2
FILIT Yk 4 1545 1390 155
=Xl 4 2199 30 10/ 100/ 100 40 80 40 30 50 100| 100 40 80| 100/ 100/ 100 130/ 100 70 94 220 40| 110 335
e | KSR YE —= 2 2
x |BFEUEMET 1 960 960
L= 1& 5000 5000
BRI UENED) ZS 500 500
K [FEELIR (LMET) x 150] 150
EErMAL [ 300 300
k SyTRY —= 35 10 25
p GEZ 1% —=k 318 19 3 87 3] 201 5
L |[X¥h—ILhAL (F05) —=k 5 1 1 2 1
Iv—ILhAL GER) —=k 5 3 2
rLRL—5— = 1 1
% LEsz)bjyiﬁﬁE%% 5 2 2 1
= ;‘&‘a%v‘_-ul:‘ G E=4—) 5 5
= AE R 9 2 7
= Sk =5 7 7
3—K")—)L (30m) 48 3 43 2
N 10 10
H—FaiL—4— 45 18 21 6
_[Pzybe—5— 3 1 2
& Zp—7 R 24 24
& R R I —5— = 1 4 4 1 2
# BRANT 10 2 8
B (A &BDEYRRIA)
(1.0KVA) 5 2 2 1
HEHHR) 4 2 1 1
FEHEAH AR A (8kg) 4 2 1 1
BHE(HVIY) 1 ’
BHAAV) U ETE (200) 4 3 ’
Kl A 1500 1500
& [ XARBTD ] 672 672
A [FELRETD B 636/ 636
m |[RRY # | 50000 50000
F DO)L——F ) 50 50
XA B R AT (X34TER D DA SHEZ L HE,




